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[1] #%PCB 69 %0.8 2.4
B PEEIEEYS 13 0.03 0.09
e 20 0.3 0.8
[13] hVZuvmbe” =)L 20 0.1 0.3
e 11 0.1 0.4
[1-4-112 77 F—PCBD H H 33447 FF7 7o 7==L (#77) 0.076 0.009 0.024
[1-4-21 2773+ —PCBD H H 344,57 b7 /v 7 ==L (#81) tr(0.011) 0.009 0.023
[1-5] 2 7mnbe” =)L 3.8 0.1 0.3
[1-5-11 2753 —PCBD H 5 233444 7nuat” =)L (£105) 0.11 0.02 0.05
[1-521 2753 —PCBD H 5 234454 7unt ==L (#114) tr(0.014) 0.009 0.022
[1-5-31 2753 —PCBD H 5 234454 7nuat =)L (#118) 0.25 0.03 0.08
[1-5-4] 2753 —PCBD H 5 234454 7nuat 7=/ (#123) tr(0.011) 0.008 0.022
[1-5-5] 2753 —PCBD H 5 334454 7nuat” =)L (#126) tr(0.010) 0.009 0.023
[1-6] ~F V7 oot 7 = =)L 1.3 0.05 0.13
[1-6-11 277 F—PCBD H H 23344 5~FH 7o 7 == (#156) tr(0.02) 0.01 0.04
[1-6-21 2773+ —PCBD H H 23344 5~F¥ /oo 7= (#157) nd 0.008 0.019
[1-6-31 2773+ —PCBD H H 2344 55~F¥ /oo 7= (#167) tr(0.010) 0.009 0.024
[1-6-4] 277+ —PCBD H H 3344 55~F¥ /oot 7=, (#169) nd 0.008 0.020
NS YEEIEEY 0.24 0.06 0.15
[1-7-112 753 —PCBD H 5 2,233 44,5~7F47unut 7 ==L (#170) 0.022 0.008 0.021
[1-721 2753 —PCBD H 5 2234455 ~7F47uut 7 ==L (#180) 0.035 0.009 0.022
[1-7-312 753 —PCBD H 5 2334455 ~7F47uut 7 ==L (#189) nd 0.008 0.022
IRNEEYEEIEEYS nd 0.06 0.14
IEPEEEIEEY tr(0.03) 0.03 0.09
[1-10] 7 hZun b7 ==L nd 0.02 0.04
[2JHCB (~FH 7o Pr) 98 0.2 0.4
[6-1]p ,p'-DDT 0.67 0.01 0.03
[6-2] p ,p'-DDE 1.2 0.01 0.03
[6-3] p ,p'-DDD 0.10 0.03 0.07
[6-4] 0 ,p'-DDT 0.42 0.01 0.03
[6-5] 0 ,p'-DDE 0.10 0.02 0.05
[6-6] 0 ,p'-DDD 0.07 0.03 0.07
[9-1] Parlar-26 nd 0.2 0.4
[9-2] Parlar-50 nd 0.2 0.5
[9-3] Parlar-62 nd 0.2 0.4
[10]~A Ly 7 A 0.05 0.01 0.03
4 ARV T7aEY T 2= —T7 VI (REEDP4PHI0ETOH D) 8.8 %13 %3.1
[4-1 7 FZ7 707 2= —7 LV 0.18 0.02 0.05
[14-1-1122'44-T h T 707 = =)L T—T )L (#47) 0.10 0.01 0.03
[142] N 2T aEY 7 =)Lz —T )LV tr(0.09) 0.08 0.20
[14-2-1122'44' 54 7 0€Y 7 = =)L =—T /)L (#99) 0.06 0.02 0.04
[143] ~F YT uEV T 2 =)L T—TF LI tr(0.07) 0.06 0.17
[14-3-1122' 4455 ~F 70 ET 7 == )L=—F )L (#153) tr(0.06) 0.06 0.14
[14-3-2122'44' 56 ~F P70 €Y7 = =/)LT—F )L (#154) nd 0.05 0.12
[14-4) ~T X TaEY 7 2= —7 LV 0.22 0.08 0.20
[14-4-1122' 33 456-~FT X7 0EY 7 = =)L —F /)L (#175) nd 0.06 0.15
[14-4-2122'34,4,5.6-~7 X470V 7 = =)L T—7 /)L (#183) tr(0.10) 0.04 0.11
[14-5] A7 2T aEY 7 2 =)L=—7 )L 0.26 0.04 0.11
[14-6] / 77 uET 7 == L= —F LI 1.1 0.2 0.4
(147 FH7aEY T =)L =—F )b 6.9 0.8 2.0
[17] X Z7oa_y P 59 0.08 0.22
R0 A Vb7 2L~ 63 %0.2 %0.5
[20-1] £/ HifbF 7 2 VB 42 0.04 0.11
[20-2] VHifb 72 VB 12 0.04 0.10
[20-3] FUM{bF 72 LV U H 5.0 0.03 0.09
[20-4] 7 N7k 7 2 L UM 3.1 0.03 0.09
[20-5] <> Z (b7 X L UM 0.54 0.01 0.04
[20-6] ~F Y HfE{bF 7 ¥ L M 0.10 0.01 0.03
[20-7] ~F 2T 7 2 LM 0.035 0.009 0.023
[20-8] A 27 ZHf{bTF 7 2 L nd 0.02 0.05
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RU~FY7auT L4 13-V 3,500 | 3,900 [ 3,700 10 30
221X ruana 7= ) — L NNCEDOE LN A7 LV 26 %0.6 *1.6
[22-1] X% 7aa7=)—) 3.0 0.2 0.5
[222] X4 7maT =Y —) 23 0.4 1.1
23] RN T 7 4 VB tr(450) %210 %550
[23-1] iRk T 0 V3 160 60 150
232 ik T B 190 40 110
2331 iFL R T V5 tr(60) 40 110
[23-4] HEFL NV 7 HE nd 70 180
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